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43 x 5 =
(40 + 3) x 5 =
(40 x 5) + (3x 5) =
200 + 15 = 215

357 x8 =
(300 +50+7)x 8=
(300 x8)+(50x8)+(7x8)=
2400 + 400 + 56 =2 856

(03)

e Calcule suivant les exemples :

79x3=(70+9)x 3= (70 x 3) + (9 x 3) = 210 + 27 = 237

65x8=(..+ . )x8=(..x8)+(..x8)= .. + o =
47x6é6=(..+ )x .. =(.x_ )+(.x.)=_.. + o =
82X 5= e = . + o = .

S X 7 o e e e

O X A = e
816 x5 =(800x5) + (10x 5) + (6 x5)=4000+ 50 + 30 =4 080
248X 7 = (. X 7))+ (. XT7)+ (.. XT7)= ... + o + o =
706x8=(_..x._ )+ .. x. )+ (. .x.)=_... + o + o =
P50 X 6 = = + o + o =
B O3 X A = e
BT X D o e
e Pose en colonnes et calcule :

318x2= ... 454X 3= ... 907 x4 = ... 634x5= ...
749 x 6= .. 608x7= ... 990x8= ... 527 X9 = ...
4856x4= ... 3072X7 = i, 92408 x5= ... 34780X8= ...




